
Operaciones con Enteros (H)
Emplee una estrategia de enteros para encontrar cada respuesta.

-29 - 98 = 88 - -67 = -50 × 92 = 

34 × -11 = -70 × 11 = 7740 ÷ 86 = 

-79 - 16 = 2 - 40 = 14 + 23 = 

3780 ÷ 54 = -6 × -35 = -82 - -16 = 

92 + 67 = -84 - 1 = 8 - -8 = 

85 + -75 = 89 + 84 = -39 × 83 = 

-16 × 73 = -28 × 35 = 66 - -26 = 

4753 ÷ 97 = -2 - -90 = 1358 ÷ 14 = 

-43 + 23 = -5460 ÷ -91 = -410 ÷ 41 = 

12 - 22 = 65 + 90 = -1798 ÷ -31 = 
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Operaciones con Enteros (H) Respuestas
Emplee una estrategia de enteros para encontrar cada respuesta.

-29 - 98 = 88 - -67 = -50 × 92 =
= -127 = 155 = -4600

34 × -11 = -70 × 11 = 7740 ÷ 86 =
= -374 = -770 = 90

-79 - 16 = 2 - 40 = 14 + 23 =
= -95 = -38 = 37

3780 ÷ 54 = -6 × -35 = -82 - -16 =
= 70 = 210 = -66

92 + 67 = -84 - 1 = 8 - -8 =
= 159 = -85 = 16

85 + -75 = 89 + 84 = -39 × 83 =
= 10 = 173 = -3237

-16 × 73 = -28 × 35 = 66 - -26 =
= -1168 = -980 = 92

4753 ÷ 97 = -2 - -90 = 1358 ÷ 14 =
= 49 = 88 = 97

-43 + 23 = -5460 ÷ -91 = -410 ÷ 41 =
= -20 = 60 = -10

12 - 22 = 65 + 90 = -1798 ÷ -31 =
= -10 = 155 = 58
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